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Question Number : 1 Question Id : 4509386241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a function f: R — R is defined by f(x) = x® — x, then f is

1R — R @D D000 f(x) = 13 — x T AGLDOIDES, f @96
Options:

one — one and onto

2 55500 sDBOIM DOFRI0



one — one but not onto

@R 35050, S°R DO 5¢h

onto but not one — one

QORI 57 9 55230 S°CD
3.¢

neither one - one nor onto

2R 55607 5°C, ORI S°CH
4. %

Question Number : 2 Question Id : 4509386242 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If f(x) = vx —1and g{f(x)} = x + 24/x + 1 then g(x) =

Fx) = VX — 10805 g{f ()} = x + 2vx + 1 ©ONS g(x) =

Options :

(x + 2)?
1.¢

(e—2)
2 ®

(Vx +2)?
3. %



(WVx—2)2

Question Number : 3 Question Id : 4509386243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

For all positive mtegers ‘" if 3[:53’**1)4-23 "1 is divisible by k. then the number of prime numbers

less than or equal fo k1

6 (O o T0%0 n §. k D 352 )+2 arlodade, k §0T) B8y mr B

4

QTR0 TPAT €5 G 0D O

Options :

17

-\.\_\_I

Question Number : 4 Question Id : 4509386244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1—x =2 |
Ifa,p,yaretherootsof [ =2 4—x -2 |=0.thenaf + Py +ya=
1 o s
I—x =2 1
By | =2 4—x =2 |=0330E) DTeren WONS af + fy + ya =
1 o R E ¢
Options :
6
1. %
3
2 %
0
3.v
—4
4. %

Question Number : 5 Question Id : 4509386245 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the determinant of a 3 order matrix A is K. then the sum of the determinants of the matrices
(AAT) and (A-AT) is
A O 3 o SIS SFSTNTUE0 K @0nd, SP(@sen (447) DO (4-4T) ©
O, ATO50 T

Options :

2K



2. %

K’.'-_'
3.¢

K
4 %

Question Number : 6 Question Id : 4509386246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

While solving a system of linear equations AX = B using Cramer s rule with the usual notation if

i 5 1 1 «
A=|2 -1 2[;0=|4 -1 2|and X=|2| thena?+ p2=
-1 15 11 1 5 p
A8 b DadBBED 598 AX = B o 300 HIB @50 rHOBEYID, e
P 1 3 1 5 1 1 @
NOSSBNNSS A=|2 -1 2|;4,=(4 -1 2| OO X=[2| wons
1 1 5 1 1 5 p
at4 pi=
Options:
9
1. %
13
2. ¥

3.v



Question Number : 7 Question Id : 4509386247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If real parts of V=5 — 121, v5+12i are positive values. the real part of V-8 — 6i is a negative

V-5-121 +v5+12i

valueand @ + ib = == then Ja+b=
560

V=5 — 120, V54121 © G308} T 27N GedaeNION, V=8 — 61 A0S ) 270

[S5=12 +\5+12

a k y Y ]

20060 DeNa) DO @ + ib = — OON® 2a+h =
V-86i

Options :
3
1. %
”
2.%
—3
3.
=
4. %

Question Number : 8 Question Id : 4509386248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The set of all real values of ¢ for which the equation zz + (4 — 31)z + (44-3i)z+c=0 represents
a circle 1s
77+ (4 - 30)7 + (443)z4c=0 HDEGE0 28 SHTR), ATDODERNT &OT ¢ G308}

@) T NI Jeed

Options :

[25, )
1. %

[—5. 5]
2. %

(=90, =5] U [5, )

(=, 25]
4.+

Question Number : 9 Question Id : 4509386249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If Z=x+iy 1s a complex number, then the number of distnct solutions of the equation
2 +7=0is
Z=x+iy 28 D08Y ND0D§ WONB, 23 +7=0 DDEBE0 GE) DY) TSRO
NOL

Options :



2. %
Infinite
€900
3. %
5
4, &

Question Number : 10 Question Id : 4509386250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the roots of the quadratic equation x* — 35x + ¢ = 0 are in the ratio 2:3 and ¢ = 6K. then K =
=35+ =0 SO &S0 TE) Hreren 23 DA S Garyon HOC

¢=6K ®0N®, K=

Options:
49
1.¢
i
2. ®
21
3. %
4.%

Question Number : 11 Question Id : 4509386251 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

N , x+a
For real values of x and g, if the expression Te?oap ASues all real values. then
X*—aX

xta W, vi o . v, o
——— elT0 ®Q) aTNe) AV

2x2-3x+1

x DO @ © TE) TS AeNSOR
BB, B

Options:

a< —lora>——
2

1
—1<a<——
2
2.
1__.. ___l
2&_\({ 5%
3. %
1
a<—ora>1
2
4. %

Question Number : 12 Question Id : 4509386252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the sum of two roots a, B of the equation x* — x® — 8x% + 2x + 12 = 0 is zero and
y,0 (y > &) areits other roots. then 3y + 26 =
=13 —8x% 4 2x + 12 = 0 0G0 G0%) Boch reren a,f © NSO D)

:)ehr SDBO Y, 8 (v > §) € T AR08, RS SrerSa, 3y + 26 =

Options :

1. % 0
1

2. %

3. % -
5

4.¢

Question Number : 13 Question Id : 4509386253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

f(x + h) = 0 represents the transformed equation of the equation

fx) =x* +2x% — 19x% — 8x + 60 = 0. If this transformation removes the term containing

x*from f(x) = 0. then h =

fO) =x*+2:3 - 192 — 8 +60 = 0 B, Eraross dESE0 fx+h) =0. &
D805 £(x) = 0 0B 3 EDRS AR SOAR, h =

Options :

_1/2
1.¢



Question Number : 14 Question Id : 4509386254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of different ways of preparing a garland by using 6 distinct white roses and 6 distinet

red roses such that no two red roses come together is

6 D) Bevay HErDen HOAN 6 D) e HErDDITF0D 2 Boch
sy theren 2.3 15 Boded 2.8 o doirhBabNe dere Hops

Options :

43200
1.¢

86400
2. %

59200
3. %

76800



Question Number : 15 Question Id : 4509386255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of ways a committee of § members can be formed from a group of 10 men and 8

women such that the committee contains at most 5 men and at least 5 women 1s

10 008 HADDEY HBAM § HOB (A0 08 8 $H0B dedsen e SN, &
500 KBROM 5 006 BN SHOAN EAN0 5 K06 (ALY GOWSEY

G109 (0 Dere) HoPS
Options:
8061
1.+
8612
2. %
6082
3., %
8271
4. ®

Question Number : 16 Question Id : 4509386256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If all the letters of the word CRICKET are permuted 1 all possible ways and the words (with or
without meaning) thus formed are arranged in the dictionary order. then the rank of the word
CRICKET is

CRICKET 9050850 @8To)080 ardsddhs @) drenm &)
SO0 & DO D PO (@509 HOA BAD) A0 (§5H0S
©9:00)8, ©9:9)¢h CRICKET (30 G50 §¢3

Options :

561
1. %

a3l
2.

546
3. %

513

Question Number : 17 Question Id : 4509386257 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
) 10
The square root of independent term in the expansion of (2% + \E) 15
10
2x2 5 - oy, 55 o oo W, — ¢ \/(\j\f W
L 3N NGRS O £50(€ CIIN AINE oIQaT N
Options :

15410
1. %



10V15

2. %

305
3. v

205
4, %

Question Number : 18 Question Id : 4509386258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The co-efficient of x°in (3 + x + x%)® is

B +x+x2)° DIBS x° HE

Options:
18
1. %
540
2. %
1620
3. %
2178



Question Number : 19 Question Id : 4509386259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The absolute value of the difference of the coefficients of x* and x® in the expansion of

2x?

() (x242)

2

———— T8} IBHO x* OO 15 T0Ky, Hhease) sacds Zcdatn B8y
(x2+1)(x%+2)

20 PO DV
Options :

13

4
1.4

| =

W | WD

Question Number : 20 Question Id : 4509386260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

tan 6° tan 42° tan 66° tan 78° =

Options :



e | L

1.%

1
2.¥

0
3. %

1
4% 3

Question Number : 21 Question Id : 4509386261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The maximum valueof 12sinx —5cosx + 3 1s

12 sinx — 5 cos x + 3 O30} M18a) VNI

Options :

18
1. %

I3
2. %

16
3.¢

10



Question Number : 22 Question Id : 4509386262 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

sin®76 + sin?16 —sin76 sinl1l6 =

Options:
0
1. #
1
4
2. %
3
4
3.¢¥
4
3
4, %

Question Number : 23 Question Id : 4509386263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1+sinx+sin®x+sin®x++o=4+ 2\,@ mdd<x<mx# gthen %=

14sinx+sin?x+sindx++o=44+2/300000<x< i, X gf’i)o&_‘)ﬁ =

Options :



o S
| J

m b

4’ 6
2_2;5

2 T

5’6
3. %

m 27

3’ 3
4. &

Question Number : 24 Question Id : 4509386264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Tan 12 4+ Tan™ 13 =

Options :
i
4
1. #
T
4
2. %
3
4



Question Number : 25 Question Id : 4509386265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Cosh™12 =

Options :

log(2 + V3)

log(2 +V'5)

2. %

log(2 — \E)
3. %

log(2 +v2)
4. %

Question Number : 26 Question Id : 4509386266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In AABC, cosA+cosB +cosC =

AABC ffﬁb_. cosA +cosB +cosC =



Options :

r

g g
+2R
1. %
1 i
"R
2 %
R
13
3. # I
l-E-T
R
4,

Question Number : 27 Question Id : 4509386267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
InaAABCif a=26,b=30,cosc = zthenc =

AABC S a =26,b=30,msc=§cﬂ—_@m§c=

Options :

-



Question Number : 28 Question Id : 4509386268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
; abc
If H is orthocentre of AABC and AH = x; BH = y; CH = z then s =

: R : » ab
AABC & H ©0230(¢50 08050 AH = x; BH = y; CH = z 900 — =

xXyz

Options :

at+b+c
X+y+Ez

ab + bec + ca

Xyt yz+gx

Question Number : 29 Question Id : 4509386269 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a regular hexagon ABCDEF, AB = @ and BC = b. then FA =

2,8 (502822 ABCDEF 0¢, 4B = @ o805 BC = b @00 FA =

Options :

a—b
1.¢

a+b
2. %

b-a
3. %

2b—a
4. ®

Question Number : 30 Question Id : 4509386270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the points with position vectors (ai + 10 + 13k), (6i + 11 + 11@)1(§E+ Bj - 3@) i
collinear then (19a — 6f)% =
(i +10f + 13k}, (61 + 11 + 1@@“5} = BE) ) ' AT ey Dodheyen
&65)@35‘@@ (192 - 68)% =

Options :

16



36

2. %

25
3. %

49
4. %

Question Number : 31 Question Id : 4509386271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If f. g h be mutually orthogonal vectors of equal magnitudes, then the angle between the
vectors f + g+ hand i is
£ 3.7 00 37 B0 60y DG ©020OFeN @oNS F+ §+h B0 k
HOFO s T80

Options:



Question Number : 32 Question Id : 4509386272 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let @, b be two unit vector. If ¢ = + 2b and d = 5 — 4b are perpendicular to each other, then

the angle between @ and b is

@b 00 Boch AT dOFeN. T=a+2b DB d =5a-4b O HBIY OO

NOFED OB T, b © DS (10 Seasin

Options :
6
1. #
T
2. % :
T
3
3. ¢
s
8
4, %

Question Number : 33 Question Id : 4509386273 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If the vectors @ = 2i — j +kb=i+ 2j - 3k.e=3i+ pj + 5k are coplanar then p =
G=2i-j+kb=1+2 -3k e=30+pj +5k SOIN NSOOPDS p =

Options :

4
1. %

14

Question Number : 34 Question Id : 4509386274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

For a set of observations. 1f the coefficient of variation 1s 25 and mean 1s 44. then the variance 13

2,8 H83050 HABE IO (Heag 25 SHBAN ©0E e 44 ONS

(§=3)

Ay

Options:



110

19
4. %

Question Number : 35 Question Id : 4509386275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 5 letters are to be placed in 5-addressed envelopes. then the probability that at least one letter 1

placed m the wrongly addressed envelope is

DOTS EORS 5 4300 § GSTON Gomrd). A% 2.8 ESd0 &)
DETSP (i) $5DES G0IEPDE H0eTedseh

Options :
1
1. % 5
1
120
2. %
4
3. % -
119
120

4. &



Question Number : 36 Question Id : 4509386276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A student writes an examination which contains eight true or false questions. If he answers six or

more questions correctly. he passes the examination. If the student answers all the questions. then

the probability that he fails in the examimnation 1s

28 D38 8 2.39) B B dFTTen DR H68D TP, H88S' e

OO0 6 BT 50} (D) 050 O NPT (T, s ©)

o

W, i W é W W, e | - 1) W
) 0% SPErren (0, @6 D85S DN FErdE oz

Options :
37
256
1. %
19
256
2. ®
119
256
3. %
219
256
4,

Question Number : 37 Question Id : 4509386277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



o = ik 2 5 @ B -
The probability that a person goes to college by car 1s E by bus = and by train 1s P respectively.

i n : 2 4 1
The probabilities that he reaches the college late if he takes car. bus, train are iz and 7

respectively. If he reaches the college i time, the probability that he travelled by car is

2.8 558 Sl B 36EE, 2018 3RS HB TS I¢ES

1 2 3
10 D02r§BEN I e OaA = S ol 50, a), Ty o750
v & W, ¥4 W 2 4 W 1
SONIOT DEEPAE 02TIEHEN ST - = 0 = edd SeTod

DO SDM0S TOB, ©eheh SOS 39 G0BERS Hoard3eh

Options :
6
29

1. %
24
29

2. %
5
29

3.¥
23
4 % at

Question Number : 38 Question Id : 4509386278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



P. Q and R try to hut the same target one after the other. If their probabilities of hitting the target

235 ; & W :
ez, respectively, then the probability that the target 1s hit by P or Q but not by R 1s

P, Q )00 R € 28 OF5R) BOOIEFVE 2,50hared HTSDM (cHe) T,

& ©F30) TOOVB0S T6 Hoardseden J)fj)a’)r?%,g, 9ONS P B Q e &

-3 | wn

O] DONT, R TOODNOT GOGETNS D025

Options :
26
105
1.4
79
105
2. %
0
3 %
75
105
4, #

Question Number : 39 Question Id : 4509386279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A box contains 20% defective bulbs. Five bulbs are chosen randomly from this box. The
probability that exactly 3 of the chosen bulbs are defective is

28 DS 0% SHATONNDD DEYN G0N, WOV 2O
TGO JOTHHTYD. JODHN)  20OS  IBT 3 2e0)en

S DAPONROT GOCEPDE 0P seh

Options :
32
625
1.4
32
125
2. #
16
625
3. %
16
125
4, %

Question Number : 40 Question Id : 4509386280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If a random variable X satisfies poisson distribution with a mean value of 5. then probability that
X<3is
5 @08 NP ™ §OAN APGy)s QETR X TONTR FBTR)

DO, X < 3 GEL 02r5eh

-



Options :

7
2
1. %
6 e’
2. %
6e >
3. %
g
2
4.

Question Number : 41 Question Id : 4509386281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation axy + byz = cy represent the locus of the points which lie on

DNEBEI0 axy + byz = ¢y AFDOD DO DN T8y DoCYeN
Options:

zx-plane or on the planes perpendicular to zx -plane

-850 BT zr T8 0O GOT HE0 NS GOLTOD
1.9

on the planes perpendicular to x-axis

X @5PDE YOO & OT 503500 S SoEFoN



on the lines perpendicular to zxv-plane

zx €578 0220 GO OV W SOLFoD

on the lines perpendicular to xy-plane

1y €578 02O SO DD N GOETroN
4. %

Question Number : 42 Question Id : 4509386282 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If the axes are rotated through an angle 45° about the origin in anticlockwise direction. then the
transformed equation of y% = 4ax is
g . =
Hrodochs) Gyars FOD @NIAIS 45° S00d $080 TR, y? = dar
Q). Erarosd HeaddBe0
Options:
(x+v)2=4y2a(x — v)

1.4

(x — »)*=#2a(x+y)

2. ®
4a
(x — )% = —(x+v)
. : J7
. . 4a
()2 = = (x—y)
v

4, ®



Question Number : 43 Question Id : 4509386283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the lines 3x+y —4=0.x —ay + 10 = 0, fx+2y+4=0and 3x+y+k= 0 represent the sides of a

square, then af (k+4)? =

3ty —4=0,x—ay + 10 = 0, fxt2p+4=0 o0 OCID Jrty+h= 0 €0 2,8 LN |0 OIS),

e BT A afk+)? =

Options:

—256
1. %

=312
2. ¢

—128
3, #*

—1024
4, %

Question Number : 44 Question Id : 4509386284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A is the point of intersection of the lines 3x + y —4 = 0 and x — y = 0. If a line having negative
slope makes an angle of 45° with the line x — 3y + 5 = 0 and passes through A then its equation
is

34y —4=00000x -y =0 0DO DO DY A. 2EPSETENR FOA

2,8 DBSTD x -3y +5 = 0 0D 45° S0 DY, A HOT S &3 T dadidiea0

Options :

2ty=2
1. %

x4+2y =3
2. ¥

ix +3Iy =7
3 %

x+3y=4
4, %

Question Number : 45 Question Id : 4509386285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



2x% — 3xy — 2y% =0 represents two lines L1 and Lo, 2¢% — 3xy — 2y* — x+7y — 3=0 represents
another two lines L3 and L4. Let A be the point of intersection of lines L1. L3 and B be the point of
intersection of lines Ly and L4. The area of the triangle formed by lines AB and L3, L4 is

242 — 3ay — 252 = 0 Da0¥d6a0 BOch BEN Ly, Ly O Ard08.

22 = 3ay — 252 — x4y — 3=0 DaNEBE0 HO Toch TN Ls, Lt 0D ArAN0H. Ly,
L3© DO D0cDa) A OO Ly, Lt © D0 Do) B ©@HE060. Tew AB,
L3, Lt ©8 8)3 [92H2 37050

Options :
3
10
1.4
3
2. % .
15
3. %
4, ®

Question Number : 46 Question Id : 4509386286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The area of the triangle formed by the pair of lines 23x® — 48xy + 3y* = 0 with the line
2c+3p+5=01s

231" — 48xy + 3y = 0 DOSTArOW08 2x435+5=0 02 30T |B2H2 3F°050

Options :
1
1343
1. 3
25
1343
2. %
7
1345
3, %
9
25+/3
4, %

Question Number : 47 Question Id : 4509386287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If @ is the angle between the tangents drawn from the point (2, 3) to the circle

¥yt —6r+4y+12=0.then 0=

x4 y2—6x 44y 412 =0 SRS (2. 3) Doche Nod A D)8) T eds

500 0 oS, 0 =

Options:

1.



%
4
sin”? ()
in =
2. ®
5
2Tan™ 1 (—)
12
3 %
5
Tan™1 (—)
12
4, &

Question Number : 48 Question Id : 4509386288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If 2x=3y+43=0 and x+2y+k=0 are conjugate lines with respect to the circle
5 -
§S=x"+y°+8x—06y—24 =0, then the length of the tangent drawn from the point i to

the circle S=01s
S=xt+y2+8r—6y-24=0 )0 OYals 2x -3y +3=0 D0 x+2y+k =0

k

e D00} BRBB, =0 HYTRS G, 3

) Dochsy ot s 9638 ek

Options :

o
!

1. %



v
12
3. %
24
4. %

Question Number : 49 Question Id : 4509386289 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If Q (h. k) 15 the iverse pomnt of the pomt P (I. 2) with respect to the cicle

12 4+yt—4x+1=0.then2h+k=

x2+y2 - dx+1=0 S980 GaFs, P (L. 2) Hockhsy g, IS0 Dochay Q (b, )

90N, 2h+k=

Options :
3
1. %
4
2. ¥
3. % i
11



Question Number : 50 Question Id : 4509386290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If (a, b) and (c. d) are the internal and external centres of simuilitudes of the circles
2yt +4x-5=0and x? + y> — 6y + 8 = 0 respectively. then (a+ d) (b +¢) =
(a, b) BOW (¢, d) €0 SO x2+y? +4x-5=0 DO *x?+y2-6y+8=10

ST 0SS SHOO aPsTs AT SOETONS, (a+d) (b +c)=

Options :
. 4

1. %
9

2. %
13

3. v
22

4. %

Question Number : 51 Question Id : 4509386291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A Circle S passes through the points of intersection of the circles x? +y2 = 2x +2y -2 =0
and x? +y2 + 2x — 2y + 1 = 0. If the centre of this circle S lies on the line x —y + 6 = 0, then

the radius of the circle S 1s

Pyt -2042y-2=0 D80 FP+yi+22-24+1=0 HTO OB
ot How 2.8 5980 S FS0B. & S9B0 S TE), 30|30 x -y + 6= 0 T3
%00, 980 § AY), ar§argo

Options :

V5

Question Number : 52 Question Id : 4509386292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The line x — 2y — 3 = 0 cuts the parabola y? = 4ax at the points P and Q. If the focus of this
parabola 1s G, k), then PQ =
1=2y-3=0 0D y?=4ax HTHO0T) P. Q Doched® 56 D0&N0H. &

NTHOOHO ARWE) T G k) ©ONS, PQ=



Options :

16av\5
1.+

Bmfg
2. %
3 % 4a+/5b

Zm.-g
4. %

Question Number : 53 Question Id : 4509386293 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 4 — 3y — 5= 0 is a normal to the ellipse 3x* + 8y% = k, then the equation of the tangent
drawn to this ellipse at the point (=2, m) (m > 0) is
312+ 8y% = k OO S9TA8 4x - 3y -5 = 0 2.8 @000 @, & HF HyE0S
(=2, m) (m>0) Docs) 3¢ A 938 B dadE8e0
Options :
3x+4y—-14=10

1. %

3x—4y+10=0
2. ¢

3x—4y+1=20
3. %



4x+3y—-3=0

Question Number : 54 Question Id : 4509386294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the line 5x — 2y — 6 = 0 is a tangent to the hyperbola 5x% — ky® = 12. then the equation of

the normal to this hyperbola at the pont (\-"E, j)) (h<0)is

532 — ky? = 12 OBITWO0TS 5x—2y-6=0 0D &f )00 wons, &

SBITHONTS (V6,5) (b < 0) Doche) 8¢ @der0ads Nanideo

Options :

Véx +2y =0
1. %

2v6x 4+ 3y =3
2. %

Véex — 5y =21
3. ¢

3vV6x —y =21

Question Number : 55 Question Id : 4509386295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



I v n
If the angle between the asymptotes of the hyperbola x% — ky? =3 is - and e 1s 1ts eccentricify,

then the pole of the line x 4 y — 1 = 0 with respect to this hyperbola 15

o~ ky? = 3 @8HTHON0 A8} @08 336,090 HAEFEE0 T HB0 e T

£58),0(C565 NS, & BITO0NO e x +y—1 = 0 5 g, ((Halo

Options :

1. %
(7%
2
2. %
fu i
2
3, %
[3e
(-2
2
4.

Question Number : 56 Question Id : 4509386296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let P(a. 4. 7) and Q(3. f. 8) are two points. If YZ- plane divides the join of the points P and Q in
the ratio 2:3 and ZX- plane divides the join of P and Q in the ratio 4:5, then length of line
segment PQ is

P(0, 4, 7) D30 Q. B, )0 BOch 20N ©HFHOT0. P, Q ©ed ) Tded

YZ- 00 2:3 D)8 S, ZX $000 4:5 )8 Sed oA, PQ BIF D00 88eS).

Options :

V107
1. ¢

Question Number : 57 Question Id : 4509386297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If (a,f,y) are the Direction cosines of an angular bisector of two lines whose Direction ratios

are (2,2,1) and (2,-1,-2), then (u+p+7)? =

(2,2,1) OO (2,-1,-2) B Ax)Rewr ey Both TPOT OB SeT)

DD § DO D0 0 T30 A5 SR 00 (g, f,y) ©0 WONS, (a+h+7)2 =

Options :

1. % 3



I3

2.V

4
3. %

5
4. %

Question Number : 58 Question Id : 4509386298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the distance between the planes 2x +y+z+1=0and 2x+y+z+a =015 3 vuits, then

product of all possible values of @ 1s
2+y+z+1=0000 2r+y+z+a=0Sero HP;Erdo 3 AATADS, « H

203005 @) VSO OO

Options :
—43
1. %
5 % 43
A3
3. %
—53



Question Number : 59 Question Id : 4509386299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

lim 1—cosxcos2x

x—0 sin? x
Options :
11
’I. e
2.
3
3. F
5
4. %

Question Number : 60 Question Id : 4509386300 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
x 2o\ 3x2+x—2 N
Options :
—3
1. %
o1



Question Number : 61 Question Id : 4509386301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

(2x%-ax+1)—(ax>+3bx+2)

f(x) z{ x+1
k

“fxE—1
Jifx=-1

is a real valued function. If a, b, k € R and f1s continuous on R then k =

(2x%—ax+1)—(ax®+3bx+2)

k Jfx=—1

2,8 TV PO00N0. 2, b,k € R HOAN R 2 D)), DS k=

Options :
1
. 3
1. %
6
2. %
e
3. %
A3



Question Number : 62 Question Id : 4509386302 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
2x gla"rzx_gx E—lfzx )
If f(x) = eV/2Xtae1/2x if x+0
0 =0

1s a real valued function then
2x el/2X_35 o—1/2x
f(.‘k’) = el/2xy4 o—1/2x
0 if x =0 &N

if x = 020NN

2,8 PR PO 1OV

Options :

fro+)= 4
1. %

f'(0-)=2
2. %

f1s not differentiable at x =0

1 =038 £e958>000 5°¢N

f1s differentiable at x =0
=090 295800

Question Number : 63 Question Id : 4509386303 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

2 — 3sinx

e r— TPl dy _
Ify = Tan ( ) then —= =

3 — 2sinx

. 1 2—35111}{) dy _
y = Tan (— 0N

3 — 2sinx

Options :

(3 — 2sinx)?
13sin2x — 24sinx+ 13

—5cosx
13sin?x — 24sinx + 13
2. o
5sinx
13sin?x — 24sinx + 13
3. %
—5sinx
13sin?x — 24sinx + 13
4. %

Question Number : 64 Question Id : 4509386304 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
fx=3 [sin t — log (cot%)] andy =06 [CDS t+log (’Ean 2)] Theug =

%3 [sin t — log (cot%)] D00 y=6 [cos t+ log (tan%)] @D&J@d—di —

Options :



2sin?t

l4+sintcost

1. %

2cos?t

14sin 2t
2_%-3

2cos?t

1+sintcost
3. v

14cos 2t

1+sin 2t
4, %

Question Number : 65 Question Id : 4509386305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
By considering 1" = 0.0175. the approximate value of cot 45°2" 1s

1' = 0.0175 1T 27000, cot 45°2" QNS G OO0 sCNed

Options :

1.07
1. %

0.965
2. %

1.035



Question Number : 66 Question Id : 4509386306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A point is moving on the curve y=x° — 3x*+ 2x— 1 and the y-coordinate of the point is

increasing at the rate of 6 umits per second. When the point is at (2, —1). the rate of change of

x-coordinate of the point is

y=x° - 34 2x— 1 H803 28 Doty LB &8 HBAN 8 ocha) TE), y-

AETFNE0 VDK 6 AL Tay)d DM B, & Dode (2,-1) Y

3552968, Dochs B x- AEFNE0S Srth) Bew

Options:
3

1.¢
1
2. % >
1
2

3. ®
—3

4, %

Question Number : 67 Question Id : 4509386307 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The length of the tangent drawn at the point p G) on the curve x2/34y2/3=2%/3 i

=]

23 4y23=22/3 %0 p G) 20D 59 AR )50 Fche)

Options:
2
1. % .
1
2.
4
3
3. %
2
4. %

Question Number : 68 Question Id : 4509386308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The set of all real values of ‘a’ such that the real valued function
f(x) =x>+ 2ax®+ 3(a+1)x + 5 is strictly increasing in ifs entire domain is
F(x) =3+ 20+ 3(a+1)x + 5 OF aFed S0TOS (DAH0 T F0o (HBFoS Heh
ST (DA DTSN &OT @’ TG, B, T NN daded

Options :

1. %



(_m, _2) U (3,%0)

(1.3)

(—o0,1) U (3,0)

Question Number : 69 Question Id : 4509386309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0




Question Number : 70 Question Id : 4509386310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

s 35 o |
J e r—. =
VaZ+x+1

Options:
A awrt o Lepahl (522
S VX +EELE 2 cosh (ﬁ) +c
1. %
1 ; 2 , (2x+1
—/x24x+1+ —Tan’ ( — )-P C
2 V3 V3
2. %
., 2
vx24x+1+ T§108|X‘2 &+ EE
y
3. %
— 1 L [2x+1
Val+x+1+ —sinh ( = )-I— c
s "‘h'l3
4. ¥

Question Number : 71 Question Id : 4509386311 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

[(tan?l + tan x)dx =

Options :
tan®x i 5 .
T (2tan®*x — 3tan“x + 6)+c
1.9
tan’x tan’x P tan*x §
— — c
6 4 2
2. %
tan®x i 3
(tan® x 4+ 3tan® x +4)+c
3. %
tan x
T (tan*x — 3tan’x + 6)+ ¢
4. %

Question Number : 72 Question Id : 4509386312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

cosec x 4
- X
3cos x+4sin x

Options:
1 COS X
—log ‘ : HE
2 3sin x + 4cos x



1 sin x g5
—lo c
3 g 3cos x + 4sin x

2.
1 3cos x+sin x
—lo c
3 3cosx + 4sin x

3_ W
1 | cos x+4sin x
2 08 3cos x + 4sin x

4, %

Question Number : 73 Question Id : 4509386313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
[ e2Xtigin 6x dx =

Options :

E2x+3

o (2sin 6x + 6cos 6x)+ ¢

sz+3

40

(2cos 6x + 6sin 6x)+ ¢

82;r+3

- (sin 6x — 3cos 6x)+ ¢



€2x+3

cos 6x — 3sin b6x)+ ¢
——( )

4. %

Question Number : 74 Question Id : 4509386314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: 1 1 1 1 1
lim )~y - - .

T~ aD n=

B | L
b
-
o]
o
[¥5]

] 3
(n?2+1)z (n?2+4):z (0249

Options :

W
<
3]

4. %

Question Number : 75 Question Id : 4509386315 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

log s 62.}:_[_9;:
dx =
‘[034 e?* —5eX + 6 ¥
Options :
: (64)
G P
I\ 79
1_%5
, 256)
05(81
2. ®
E (32)
0g 3
3_%5
] 128)
Gg( 27
4.«

Question Number : 76 Question Id : 4509386316 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
J-Exdw_ 1 3
X
Options :

1.4



1 (V3
—Tan —
V3 -

121
2. ®
J2-3
3. %
1 2
—Tan™?t (—_)
V2 V3
4. %

Question Number : 77 Question Id : 4509386317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The area of the region (in sq. units) enclosed by the curve y = x® — 19x + 30 and the X-axis is

S0 y=x*-19r+30 HO0W X-850 0T SI00NGS [Fod ITO0
(B8 AR )

Options :
167
1. %
a1’

2. %



Question Number : 78 Question Id : 4509386318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The differential equation representing the family of circles having their centres on Y-axis is
1 —ﬂ H —@)
()'1 dx andy, = dx?
Y-850 O SOmod 080 Sydsne Hinoad) rdoE @500
v bj\( ay « a2y
Qo508 (yl =— o000 y, :—)
dx ¢ dx?

Options :

v =y +1)

1%
Vo = xy(y,? +1)
2. ®
xy, =y (1 * + 1)
3. ¥

xy, =y 2+ 1)



Question Number : 79 Question Id : 4509386319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2

The general solution of the differential equation (siny cos y — x sec?y) dy = (tany) dx is

LA
Options :

tany = 3xcos®y+c

1. %
: = 2
x(secy +tany) =cos*yv +c
2. %
ysiny =x%cos’y+c
3. %
3xtany +cos®y=c
4.

Question Number : 80 Question Id : 4509386320 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The general solution of the differential equation (x —y—1)dy=(x+v+1)dxis
(x—y—-1)dy=(x+y+1) dx ®380 HenEBe0 TE) e P
Options :

1. %



i b | 1 ; :
77 ( : ) —Efﬂg{_lz +yi+2y+1)=c

(x—v)+log(x+y)=c

2. %

}'2 —ne? g Ry =i
3. %

=y=D%aryt 1P =i
4, %

Physics

Section Id : 450938136
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 81 Question Id : 4509386321 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

a) | Thermal conductivity | 1) | MLT 3K1
b) | Boltzman constant a) (ML Tt
¢) | Latent heat iif) | MLZT 2K
d) | Specific heat iv) | M2I2T 2

1508 a3 23508505
a) | RaerEes i) | MLT K™

b) | SO_HS Voroso | i) | MOIAT 2Kk

o) | H&fao ) | MIZT 2K
3 | 23F R0 V) | MPI2T 2
Options:
a—1i, b—iij c—1iv, d—ii
1.9
a—1i, b-—ij c— 1v, d —iii
2. %
a—iii, b—ii, o d—iv
3. %
a—ii, b-—i ¢ — iii, d—iv
4. %

Question Number : 82 Question Id : 4509386322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An object 1s projected such that it has to attain maximum range. another body is projected to reach
maximum height. If both the objects reached the same maximum height. then the ratio initial
velocities

28 DoY) ) F5a) FOTEY, HTE YD HBak ) TOHLY RO\, &
50T O B3 LN NaiPR0. NS & TO M De)® HE) STe A )ed

Options :

2-1
1. %

V2:1

2. &

Question Number : 83 Question Id : 4509386323 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Aball 1s projected at an angle of 45° with the horizontal. It passes through a wall of height 'h’ at a

horizontal distance d; from the point of projection and strikes the ground at a distance d; +d,

from the point of projection, then ' is

2,8 208 §82 AXroBdENE 45° Frand (N800 T, & 208 (8
Do) DO d; § 32 Dar0E rdaine B ) ffe) Acdad Te3 25,2 Doy
00 d; +dy BTS00 TR THDNE. WOV B Densd

Options :



2d,d,

T d, +d,
1, %
~ dyd;
- dyptds
2. ¢
1 V2 d,d,
S
d, +d,
3, %
d,d
T
2(d; +dy)
4, %

Question Number : 84 Question Id : 4509386324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One second after projection, a projectile 1s travelling in a direction inclined at 45° to horizontal.

After two more seconds it s travelling horizontally. Then the magnitude of velocity of the projectile

is(g=10ms™)

2,8 1393 8:50, |98 0 T 28 VED T30 S0 36 @96 § 82 XTOBENS

45° S80050) TP (ATFEHDN)0. T (233 8a a8 TOh EDO S350 ST 56

§823 0SB0 (NOFEDR), & (D3N8 Gg) I HBATE VeV,

(g=10ms™?)

Options :

10v13 ms™!

1.¢



11 ms™*

2.

10v2 ms™!
3. %

20 ms !
4. ®

Question Number : 85 Question Id : 4509386325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Three blocks of masses 2 m, 4 m and 6 m are placed as shown n figure,

. . T 4 : .
Ifsin37° = o sin = Ethe acceleration of the system s

2m 4 m 6 m (A5 THeD do e AN HE0S NS dorr
OO, sin37° =2, sin53° = @AY G I T &3060

Options :
¥
a——g
| 30
3
A=
30°



13

a=—g
. 15
15
gl
355

4, %

Question Number : 86 Question Id : 4509386326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two masses my and m, are connected by a light string passing over smooth pulley. When set free

. . my . : &
m, moves downwards by 3 m m 3 s. The ratio of ﬁls (g=10ms™?)
2

) §2)8 ADF)© Boch (BS5THen my aHBOKH m, 0 e B 2.8 o
38 (Beadobaon. 28 DOIT SAOS, my S0BBYSK 3m Jen
5780 3 DEDOS 280 2 0008 (9= 10ms™)

Options:
9
1. % .
8
2. ¥ ?
10
3. % 7



15
13

Question Number : 87 Question Id : 4509386327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In an inelastic collision. after collision the kinetic energy

2.8 SOBTE ©9D)redald) Z00) ) HEHS Dens, ©92)arehen 200 eared
Options :

increases by 2 times

2 BEY &HMHD

1. ®

1s less than before collision

€92)3°€55300 22018 0D ZOT) 550 G 0D
2. %

1s more than betore collision

292)533°¢55300 220098 23D0CD OB DBV T 50D
3. %

remains same

DEN0ES 57 GOCECH

Question Number : 88 Question Id : 4509386328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A spring of 5 X 10°Nm™ spring constant is stretched initially by 10 cm from unstretched

position. The work required to stretch it further by another 10 cm is
5 x 10°Nm™! ()00 Q008 s §ORS 28 (2)0f I 10 cm 0
HO0HDEIR. 88 (200 o OGNS 10 cm APADADEF) TODSIO DA 2N

Options :

75 N-m
1.9

50 N-m

76 N-mn

4 % 82 N-m

Question Number : 89 Question Id : 4509386329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The moments of inertia of a solid cylinder and a hollow cylinder of same mass and same radius

about the axes of the cylinders are I; and I,. The relation between I; and [, 1s
2,8 |3655073 B 25 asrrdo AR 2.8 500 W0 HBAM 2.8 F'en Y0 ©
346D (27050 AP 9570 B0 AT 1, oD 1. @00 I; AW I,

6§ 0200

Options :

I, <1
1.wl 2



2. ®

L= 1
3 % 1~ 12
4'23 I]_:Iz:ﬂ

Question Number : 90 Question Id : 4509386330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A wheel of angular speed 600 rev/min is made to slow down at a rate of 2 rad 5. The number of

revolutions made by the wheel before coming to rest 1s
§E300 0363 600 rev/min ) 2,8 TEa0 I 21ad s2TENS SROVAAIR. V50 VS

TIERS $0T) SN0 LI(Ea TR [HDETO A0S
Options :

157



Question Number : 91 Question Id : 4509386331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Time period of a simple pendulum in Air is T. If the pendulum is in water and executes SHM. its

time period is t. The value of % is
[density of bob 1s 503& kgm™]
TS GE 28 odndedo Bomdds soo T. Sodo IS ok

W, W, O 5 T [}
NOFPTre)8 00 BNt ) BOTHIN 00 . NS - end)

[thoch ro((3e == kgm ]

Options :
2
5
1. %
2
5
2.
3. %
5
2
4. %

Question Number : 92 Question Id : 4509386332 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
For a particle executing simple harmonic motion. match the following statements (conditions) from

column I to statements (shapes of graph) in column IT

column I column IT
a | Velocity-displacement graph (w=1) |1 | Straight lime
b | Acceleration-displacement graph i | Sinusoidal
¢ | Acceleration - time graph m | Circle
d | Acceleration - velocity (w # 1) v | Ellipse

v,

DB&:30re % 5050 T §690 DAADOES' (508 P50 2BIEI0E

2 | Dtfo-gBodo [ (w=1) SINTDIeEN
b | &s8e0- | P0d0 TR i | DTN
¢ | &080-500 Ta) i | 580
d | ¢58e0-300 T2 (w# 1) v | B S9B0
Options :
a-1v. b-1, c-11,  d-111
1. %
a-i1.  b-L. c-11.  d-1v
2. ¥
a-111. b-11.  c-L. d-1v
3. W
a-1v. b-11.  c¢-1 d-111
4. ®

Question Number : 93 Question Id : 4509386333 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Two satellites of masses m and 1.5 m are revolving around the earth with different speeds m two

circular orbits of heights Ry and 2R, respectively. where Rgis the radius of the earth. The ratio of

the minimum and maximum gravitational forces on the earth due to the two satellites 1s

m DOCA 15m (DITHEN (10 TOd sa|ffarfen 2rad tHE Ry DGO 2R
DD K0 HYTSE 85506 D) SEHOS HBESMOL o) on. B0 Ry 24
T5PG0. 2503 S8 SOk G|l IO $OT 5 SHBA KO thted§ ere
RRNC

Options :

Question Number : 94 Question Id : 4509386334 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two copper wires A and B of lengths in the ratio 1 : 2 and diameters in the ratio 3 : 2 are stretched
by forces in the ratio 3 ¢ 1. The ratio of the elastic potential energies stored per umt volume i the
wires A and B 1s

P390 ) 11 2 HOAM 5 e e 3 1 2 5O A HOAW B & Toch o
SO 3: 1286 1) 2ered 27 AT, 508 DIIOSFTIE A HBKY B
SOS Aens) G0T PBTHE A FHO 2D

Options :

Zanl
1. %

4:9

16: 9
3.v

4:3
4, %

Question Number : 95 Question Id : 4509386335 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

216 small 1dentical liquid drops each of surface area A coalesce to form a bigger drop. If the surface

tension of the liquid is T. the energy released m the process 1s

25728388 A &80 ITO50 0 216 D) 2505 |35 DoDHEN SOV ow
2,8 0 DO DEIBD. (5 BIhe3s6h T ©aned, (HEOHES Db @one
38

Options :

1. %



360 AT

180 AT
2. ¢
% 90 AT
120 AT
4. %

Question Number : 96 Question Id : 4509386336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The length of a metal bar is 20 cm and the area of cross section is 4 X 10™*m?. If one end of the

rod 1s kept in ice at 0°C and the other end 1s kept in steam at 100°C, the mass of ice melted in one

minute is 5 g. The thermal conductivity of the metal in Wm ™K ™" is

(Latent heat of fusion = 80 cal/gm)
2.8 373 86 6 20em SHOOM T HATI FTO0 4x 10™4m?. 4G 2.8
DGR 0°C 56 10 DS, HFE V3G  100°C HE o> A 2705 e
0O, 2,8 AVNOS’ E0A SO B30 5 g 0N S'aTy Gy aaréed 50
WKL & (928550 HaFae = 80 cal/gm )

Options :

| 140

120
2. ®



100

160

Question Number : 97 Question Id : 4509386337 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The work done by an 1deal gas of 2 moles i increasing its volume from V to 2V at constant

temperature T 1s W. The work done by an ideal gas of 4 moles i increasing its volume from V to

|
8V at constant temperature E 18

2,8 00 &S T 5O 2 IO © 2.8 8AE) T0506) aded BTED V 0 2V
2000% TS 3 W. DB S ; 504 36 © 8B6) Ty D
DB V DO 8V OTHEE) BODNIOVS )
Options :
w

1. %

ZW

3w
3.¢

4W



Question Number : 98 Question Id : 4509386338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When 40 | of heat is absorbed by a monatomic gas, the increase in the internal energy of the gas is
2,8 8 HBSTENE POV 40] GalR) F0D, F0hsY) ©0s8% 3§ S D
do

Options :

12]

16]

24

32]

Question Number : 99 Question Id : 4509386339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a Camot engme. the absolute temperature of the source is 25% more than the absolute

temperature of the sink. The efficiency of the engine is
2,8 58) HOB0S, EaPdaho D &afilie, FderdaNo HB Geiie )
25% ©650. &0 0000 Tw8) 5.

Options :

10%



50%

2. %

25%
3. %

20%
4.

Question Number : 100 Question Id : 4509386340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The molar specific heat capacity of a diatomic gas at constant pressure 1s C. The molar specific heat

capacity of a monoatomic gas at constant volume is

0 D50 ¢ 2.8 B 5H0PENS TOKY F0erd DIea Frhs0 €. VY

DINOSTEI0 98 2,8 DEISTENE FOIL) TE), erd D3ga 00

Options :
2C
1. % 7
3C
2.v 7
C
7
3. %
4C
7

4, ®



Question Number : 101 Question Id : 4509386341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Two stretched strings A and B when vibrated together produce 4 beats per second. If the tension
applied to the string A increased. the number of beats produced per second is increased to 7. If the
frequency of string B 1s 480 Hz mutially. the frequency of string A 1s

Boch PTOADDGS Bifen A HO0M B 2370 40203 TA, 28 VD 4
2 )OO €563 ) RO, 3 A % ONNB0TIBD BT VOV, 2.8
8D D)) ) e JORTEN 7 5 BT &1 B 2reds )0350 480 Hz SO0,
i A O 2 250

Options:

473 Hz

1. %

476 Hz

484 Hz
3.¢¥

487 Hz

Question Number : 102 Question Id : 4509386342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The focal length of a thin converging lens m air is 20 cm. When the lens 1s immersed in a liquid. it
behaves like a concave lens of power 1 D. If the refractive index of the material of the lens 1s 1.5,

the refractive index of the liquid 15

TOS b)) 2.8 @DRFE §6)50 T7ars0S80 20 em. & 8635 2.8 (D06 00D
6 1D (50 o) Y8 E650 ST HATAND. E68 gy S5 theago

1.5 9000 |3:30 (8250 heado

Options :
1.4
4
3
2 %
3]
4
3. %
/j
4
4, ®

Question Number : 103 Question Id : 4509386343 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In young's double slit experiment with monochromatic light of wave length 6000 A. the fringe
width 1s 3 mm. If the distance between the screen and slits is mereased by 50 % and the distance

between the slits is decreased by 10 %. then the fringe width 1s

6000 A 307350 DR 8 SdToBS 2dhdadad Aol 208 DOF HEFIOS,
H8 Schen) 3 mm. B HBAM DO S5 APTRY. 50 % oD, DOL NS
D) 10% S0, 96 Icen)

Options :

12 mm
1. %

5 mm
2.

6 mm

10 mm
4. %

Question Number : 104 Question Id : 4509386344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two point charges 6 pCand +10 pC kept at certan distance repel each other with a force of 30 N.

If each charge 1s given an additional charge of —8 pC, the two charges

§0eh PSS 36 BohadS Toth Doch SFFEN +6 uC HOOM +10 pC 2.8
AR DHTES 30 N 2008 DEF0TH Th. (D& eTTRE e300 -8 uC ST

QND,), & BOch STTeN

Options :

1.



Attract with a force of 2N

2N 2008 e8500tDFDD

L 4
repel with a force of 2N

2N 2006 DEG0TDE DD

2. %
Attract with a force of 15 N

15 N 2006 e3580t05 0D

3. %
repel with a force of 15 N

, 15 N 2006 DEB0THETDD

Question Number : 105 Question Id : 4509386345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the given circuit. the potential difference across 5 pF capacitor is

995228 SOONOES, 5 PF SarD HEe) s0cds FBVCHS 250

Options :



48V

1.

24V
2

63V
3. %

21V
4. %

Question Number : 106 Question Id : 4509386346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a region. the electric field 1s (30{ 5 40D NC™L. If the electric potential af the origin is zero, the

electric potential at the point (1 m,2 m) is
2,8 NBF0S, D 360 (301 4 40]) NC2. X070 Dohey 56 e SFHICHS

T 0NN, (1m,2m) DOcDs) 98 DENIS FBVANO

Options :

—60V
1. %

—75V
2. %

=H5V



=310

Question Number : 107 Question Id : 4509386347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In a potentiometer. the area of cross section of the wire is 4 cm®. the current flowing in the circuit

is 1 A and the potential gradient is 7.5 Vm ™. then the resistivity of the potentiometer wire is

2,4 SO D i eachpses TS0 4 cm?, HOOHO HOT (DIF0D NS
DTF0 14 00 FBIAHO (369 75 Vm™! @00 & FBIAT S &
OS¢

Options :

3x 1072 Om
1.«

2% 107 Om

4% 107% Om

5% 107* Om

Question Number : 108 Question Id : 4509386348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Drift speed (v) varies with the intensity of electric field (E) as per the relation

53 3B (), DS T (& B (E) & EOB &50¢H 5020630
Options:

rvakE
1.9

Question Number : 109 Question Id : 4509386349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A current carrying coil experiences a torque due to a magnetic field. The value of the torque 1s
80 % of the maximum possible torque. The angle between the magnetic field and the normal to the

plane of the coil i
DS [DTaTN), 28 BDHE) WO 06 T (50 S0 €75} $ SHyehod. &
676, wPeis 0 (1852 D), VeSS 80 % Dexnsd 0T eahry 06 3 @8 sBoky
3 800 02PN %3 §80

Options :

30°
1. %



2. ®
3
(]
an~ |2

3. %
4
T (3)
an |3

4.

Question Number : 110 Question Id : 4509386350 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An electron is moving with a velocity (2? + 3D ms ™" in an electric field (3f 16+ ZE) Vs ™! and

a magnetic field of [2} }: EE) T. Then the magnitude and direction (with x-axis) of the Lorentz

force acting on the electron 1s
28 JOFD (2i+3])ms? Jod S T b0 (3i+6]+2k) Vs sHBO
(27 +3k) T o ©0DRF,08 30 How DO, NS & JO[FTHR

AT SB0F 20 H0SFE0 DB OF (105 N S)

Options:

2
96 % 10717 N, 6 = cos™! (—)

V5

5
9.6 X 1071° N, 6 = cos} (—)
V2



2
2.15 x 10718 N, 0 =pag " (—)

3.¢¥ ik

5
2.15 x 10718 N, 8 = cos (—)
V2

Question Number : 111 Question Id : 4509386351 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A magnet suspended in a uniform magnetic field is heated so as to reduce its magnetic moment by

19%. By doing this. the time period of the magnet approximately

2,8 D508 @D 06 3 (S0 BTt 2 @ONI0ER), TR S0H;08
2755080 19% &7 NSO FE BT, BEr TOVGO HOS, & AHI,050 TS}
BOTHN 00 Dr&T

Options :

Increases by 11%

11% 0&MHEDOE
1.¢
Decreases by 19%
19% e5(hedod
2. ®

Increases by 19%

19% 22D OO



Decreases by 4%

4% SDHeHOO
4. %

Question Number : 112 Question Id : 4509386352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the current through an inductor increases from 2 A to 3 A. the magnetic energy stored in the

inductor increases by
2,8 (D380 T 507 (NeSeTotuTd) e5d 24 00 34§ DA, W8S deg
03 @D 08 48 S D&MD

Options :

125%
1.¢

50%

Question Number : 113 Question Id : 4509386353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the figure, if A & B are identical bulbs, which bulb glows brighter
30 IO, A SO B 9 FISTHR 2e0)en. FES IO (5 FH0e0T
eNMHenody?

e @

I @B

10 pF

Options :

A
1.4

Both with equal brightness

BOCE® 2.8 DO (DS O

Both do not glow

B0 319

Question Number : 114 Question Id : 4509386354 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The Solar Radiation 1s

S DESET N 9D
Options :

Stationary wave

DG eBormen
1. %
Mechanical wave
QS0 €38 edBorren
2. %
Transverse EM wave
33555 DEDFAADY06h edbBomren
3.¢
Longitudinal EM wave
i e NTY5 DD SO0 dSomen
4,

Question Number : 115 Question Id : 4509386355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Energy required to remove an electron from aluminmum surface 1s 4.2 eV. If light of wavelength

2000 A falls on the surface. the velocity of the fastest electron ejected from the surface will be

@OTDA0N0 BO0 DOG 28 JOITR D SONNTAS THOVS 45 4.26V.

SS0NTY0 20004 O TOB & $00 ISIND, B SO0 HOd IV

DO[FDO {01 (10

Options :



8.4 x 10° ms™ !
1. ¢

7.4 % 10° ms™ !

2.

6.4 %X 10° ms™!
3. 3

8.4 X 10°ms™*!
4. %

Question Number : 116 Question Id : 4509386356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
[f the bonding energy of the electron in a hydrogen atom 1s 13.6 eV. then energy required to remove

electron from first excited state of Li%* is
TPEES GSTEN)S DO|FS R0E, 0 4813.6 6V e Lit e 5B
08 DOG O[T & OIS TR 48

Options:
122.4 eV
1. %
3.4eV
2. %
13.6 eV
3.



30.6 eV

Question Number : 117 Question Id : 4509386357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A mixture consists of two radioactive materials 4; and A, with half lives of 20s and 10s

respectively. Initially the mixture has 40 g of A; and 160 g of 4, . The amount of the two in the

mixture will become equal after
90 A6 $ere 20 5 O 10 sTHE) 4; HOOL 4, B DAEF 768 Srersen
00 5. & DFN0ES Send 40g© 4, DO 160g© 4, HFOT §00).

& D[F00 'R B LTFOS [H5THON XTSRS 58 0

Options :

60 s

80s

20 s

40 s

Question Number : 118 Question Id : 4509386358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If n, and ny, are concentrations of electrons and holes in a semi-conductor, then the intrinsic carrier
concentration (n;) m thermal equilibrium 1s

2,8 OGTPE0E DOTS HOAN S0ITTe ESEY SN n, IO 1, WOV

€l DBVBS ) £2P2 e FararE TPCHeS (ny)

Options :

— n'E
n; = fnh

1. %
Iy
I —
g
2. &
I = /eIy
3. ¥
In; = Ig + Iy
4.

Question Number : 119 Question Id : 4509386359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given digital circuit if the mputs are A = 1,B = 1 and C = 1 then the values of y; and y, are

respectively
18085 30N ERES SOOHNES AFTEN A = 1,8 = 1580 € = 1 9a0dy,
2DB0 y; 2NN AT
A
Y2
B ._j
 +—i ¥
Options :
0,1
1.¢¥
0,0
2. %
3 % 1,1
4% 1.0

Question Number : 120 Question Id : 4509386360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the maximum and minimum voltages of an A. M wave are V., and Vi, respectively, Then the

modulation factor ‘m’ 1
2,8 8005 HONS SreBAS (AM) S80rfo gy A8 HOK & STE

DENIEN ST Vo DGO Vi, G0N STCHT (DLW ‘m’



Options :

(Vmax + 1"'FIII'HII.}/
vmax I]‘.LIII)
’| w
rC‘"rnwu{ ] 1"’rminj]'/
(Vma:{ +Vmin)
2.9
2 Vmax li"erin _
':.Vmax"]'vmin}
3_ W
(Vma'-:_l'vmln}/
max Vmin)
4, %
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Question Number : 121 Question Id : 4509386361 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The de Broglie wavelength of a particle of mass 1 mg moving with a velocity of
10ms™ is (h=6.63 x 107 Js)
10ms™ K0S $6F 1 mg (335073 e §630 (%L_?S% 0TS0 (h=6.63 x 10737 )

Options :
6.63 x 1077 m

1.9

6.63 x 1073 m

2. %

6.63 x 1073 m
3. %

6.63 X 10722 m
4. %

Question Number : 122 Question Id : 4509386362 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Correct set of four quantum numbers for the valence electron of strontium (Z = 38) 1s

[TPR0DD (Z=38) SO JO[FAE 070D 575080 0D HOT DS

Options :

1
5.0,0, +5
1.9



5.1.0. +§

2. *
1
5.1 1 +3

3. %
6,00 42
e 2

4. %

Question Number : 123 Question Id : 4509386363 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following

ListI List IT
Element | Electron gain enthalpy (in kJ mol™)
Al F [ -141
B| Cl |II -328
g & |HW -200
D| S |IV -349

The correct answer 1s

1800 PE3R 2T

FOT ] AR
OS50 QO[T [TPoPS Do) (I mol ! ©S)
A F I ~141
B cl II ~328
C 0 111 ~200
D S IV —-349




A-II. B-IV. C-I. D-IIT

1.¢

A-TV. B-1I. C-1. D-ITT
2. #®

A-III, B-II. C-IV. D-I
3, %

A-II., B-III. C-IV. D-I
4. %

Question Number : 124 Question Id : 4509386364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The bond lengths of diatomic molecules of elements X. Y and Z respectively are 143, 110 and 121

pm. The atomic numbers of X. Y and Z respectively are:

X, Y h80 Z Srese) & 5008 @ea)e 200 BTen AT 143, 110

a B

DB05 121 pm. X, Y DBON Z © 2IBadPE0 )05 DT

Options:



7.9.8
4. %

Question Number : 125 Question Id : 4509386365 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The correct formula used to determine the formal charge (Qf) on an atom in the given Lewis
structure of a molecule or 1on 13
(V =number of valence electrons in free atom, U = number of unshared electrons on the atom,

B = number of bonds around the atom)

2.8 e3a009) BT ©O5TDE BN OraIr A0S, NEarens 80 w8 ()
APONOIETAS GTAOD T 2T

(V="25) W8S HESTE)S &R) SO O[T D0s, U= H8res) e
&) &’}Ozﬁjs*a)rié& DO[FN A0S, B = NOLPes) tHEF 5ed) 20T d0D3)

Options:

Qf:V—[U‘l‘B.}
3.¢



Question Number : 126 Question Id : 4509386366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

4

RMS velocity of one mole of an ideal gas was measured at different temperatures. A graph of ()
(on y-axis) and T(K) (on x-axis) gave straight line passing through the origin and its slope 1s 249
s K, What is the molar mass (in kg mol™) of ideal gas? (R=8.3 J mol 'K

2,8 3O &3¢)0) a0 RMS ST e toa|11656) 56 TOTD. (ums) (-8 0)
60 T(K) (x-@503) © DS ) Ao Sredodhs) hom 37y 60
ODOD0O. TR Te 249 w5 K. 88¢58) o) Irerd ar0 (kg mol? ©) 0eh?
(R=8.3 Tmol'K'!)

Options :
10
1. %
1.0
2. %
24.9
3 %
pxan
4.+

Question Number : 127 Question Id : 4509386367 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Given below are two statements

Statement I: Viscosity of liquid decreases with increase in temperature

Statement II: The units of viscosity are kg m™s?

The correct answer is

1508 BOD aP$RSEN B S2TF°0M

5§ I 1C99e)) ) (68, sl t1ed DOASTHE edDedod.
8§ I ) (ed [Dedreaeen kg mls?

DO DSTTTd50
Options :

Both statement- I and statement- IT are correct

5 5- T oNGA 753 3- IT BOCH® OB

1. %
Both statement- I and statement- II are not correct
50§~ T oNOC O°EWE-TT TOCH® QBN 5%
2. ®
Statement- I 1s correct but statement- II 1s not correct
55~ T QBRDAE 57 a5 5- I DB 5°¢H
3. ¢

Statement- I 1s not correct but statement- IT 1s correct

2”5 S5-I DO 5°CD 57 3§ §- IT ABADOE



Question Number : 128 Question Id : 4509386368 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A hydrocarbon containing C and H has 92.3% C. When 39 g of hydrocarbon was completely burnt

in Oy. x moles of water and y moles of CO; were formed. x moles of water is sufficient to liberate

0.75 moles of Hy with Na metal. What is the weight (in g) of oxygen consumed?

(C=12wH=1u)

C OO Hen &) 28 BTG S 92.3% € 0. 39 g © FETHIN D 0

JOP H0B0DIID x IO © A HBAW 7 I*O © 02 GBI, x I*O ©
XD, Na &3P0 58S 0.75 TP © Hy i A TAMERD HOFH00.
DTS €813 (D950 (g ©S) D0 ? (€= 12u; H=11v)

Options :
120

1.+

240

Question Number : 129 Question Id : 4509386369 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 300 K. for the reaction A — P. the ASgs is 5 JK! mol ™. What is the heat absorbed

(in kT mol'?) by the system?

W,

300K 98, A— P 163550 ASeys 20065 5 K mol ™. 6952300 ((1ar0DeS a0

@

(kJ mol! ©) Doeb?
Options :
1.5
1.4
15
2. %
1500
3. %
0.6
4, %

Question Number : 130 Question Id : 4509386370 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Identify the incorrect statements from the following
L. ASsystem = (AStotal + ASsurr)
II. A(]) — A(s): for this process entropy change decreases
[II.  Entropy units are J K mol™
DO 5 (incorrect) 55D D80S0
L. ASsystem = (AStotal + ASsurr)
I A — A(s): 88 (DE0HZ DOET DS 55750 ) edHeddr 0

M DO (Dedrearen JK mol

Options :



I. IIT only
I, I 030765530

1.¢
I. IT only
I, I (5o
2. %
I. IL. IIT
3. %
II. I1T only
I1. TI1 o55°( €9 a0
4, %

Question Number : 131 Question Id : 4509386371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At T (K). Kc for the reaction. A, (g) = B, (g) is 99.0. Two moles of Ay (g) was heated to T (K) in

a 1L closed flask to reach the above equilibrium. What are the concentrations (in mol L) of A (g)

and B2 (g) respectively at equilibrium?

T K) 3O A, (2) 2 B, () 305 H K. dend 99.0. Toch 376 © Ay  IL aFdS

SN T (K) 5050 SETD 3 9BV O, 0TS 0 A sHBA By

©) TPhede) (mol L Q)PSG) P 0eh?
Options :

1.86. 0.0187



1.98, 0.02

2. ®

0.0187.1.86
3. %

0.02.1.98
4, &

Question Number : 132 Question Id : 4509386372 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
At 27°C, the degree of dissociation of weak acid (HA) in its 0.5M aqueous solution is 1%. Its K

value 1s approximately

27 56, 0.5M B0 [PHE0S 26T €300 (HA) 0Ly DDA @30 1%. T K

Do) AT

Options :

5 x 1072
2. ¢

4. %



Question Number : 133 Question Id : 4509386373 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Aluminivm carbide on reaction with D20 gives Al(OD); and ‘X", What 1s *X'?
95 DAAN0 58)% D0 & 1985 0O AlOD); HAM X © A, X O?

Options :

Ca2D2

Cs3Dy

CaDy

CDy

Question Number : 134 Question Id : 4509386374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Lithium forms an alloy with X", This alloy is used to make armour plates. What 1s ‘X7
DBOHO X' & M0 SeFQ) BIHN0A. & s 37 S5t Sosrsd
B0 S SHTATA. X' IE?

Options :

1. %



Pb
2. ®

Al
3. %

Cr
4. %

Question Number : 135 Question Id : 4509386375 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which of the following reaction. dihydrogen 1s not evolved?

180& D VE5S BB DeEsed 5°¢0?
Options :

Oxidation of sodium borohydride with iodine

OBrAS & FHoHo 58 2 B& es8)dde0

Hyvdrolysis of boranes

. ST © 230 DIA00
2.

Heating the adduct formed by reaction of ammonia with diborane

35BS & e3mQair 985S DBIG H0EDerd) S TOE
3, %



Burning of diborane in oxygen

38138 S BETS D HOGOVEO

4. &

Question Number : 136 Question Id : 4509386376 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

1508 TE3R) 25T

List-I ()& -1)

List-II (232)&-11)

Bond (200¢)0) | Bond enthalpy (2006 ﬁ()@“@ J)
(in kI mol ™)
A Si1-S1 I 240
B Cc-C II 297
B Sn—Sn IMI 348
D Ge - Ge IV 260
The correct answer 1s
AT Qed0
Options :
A-II. B-III. C-I. D-IV
1.
A-II. B-IV. C-III. D-I
2. %
A-III. B-II. C-I. D-IV




A-TII, B-I, C-IV, D-II

Question Number : 137 Question Id : 4509386377 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arrange the following pesticides in the chronological order of their release into the market

Organophosphates organochlorides sodium chlorate

A B ¢

808 DGO THSOS F5PE S0K0S S S5 DN FOETRFE0H @K Y

STS )0 sTS S0 e Faoho SO
A B G
Options :
B.A,C
1.¢
B.C.A
2. %
C.B. A
3. %
AR
4. %

Question Number : 138 Question Id : 4509386378 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
From the following identify the groups that exlubit negative resonance (-R) effect when attached
to conjugated system

formyl AMNo alkoxy Cyano fitro

A B C D E
806 S H0aM} 535 2000WASYED HE TETI) ) (R)
0680t dadrarerd Hlodod

010 AR 8e7)8) JODS B
A B C D E
Options :
A. C.E only
A. C. E A0r(¢had
1. %
B. C. D only
B. C. D 2357 ¢da
2. %
A.D. E only
A.D. E S57(6850
3. ¢ )
B. D. E only
B. D. E J07€53
4. %

Question Number : 139 Question Id : 4509386379 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A dibromide X (C4HsBry) on dehydrohalogenation gave Y which on reduction with Z gave non

polar 1somer of C4Hs. What are X and Z respectively?
28 B X (CiisBr) Aar| B FSETAR S Y 3000, Y Z & § ahideao
DO C4Hs T8}, 9] ¢0a) FPCT%R), w0 IBD0E. X DB Z € ST )7

Options :

/\/ Na /NH; (/)
1.¢
/\‘/ ; Pd/C
/\I/\ Na / NH;3 ()
3. %
4, %

Question Number : 140 Question Id : 4509386380 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The diffraction pattern of crystalline solid gave a peak at 26 = 60°. What is the distance (in cm)
between the layers which gave this peak?

(1 of X-rays is 1.544) (sin 30°=0.5, sin 60°= 0.866; n = 1)

2,8 9638 00595 D33 e 2.8 30 (peak) 20 = 60° S EIBOO.
& 3200) 2NN PG ds RGO (cm ©F) J0S? (X-8557e) A Dend 1.544)
(sin 30"=0.5, sin 60°= 0.866;n = 1)

Options :

8.89 x 10~ ?

8.89 x 1071

1.54 x 1078
3.v

1.54

Question Number : 141 Question Id : 4509386381 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The concentration of 1L of CaCOj solution is 1000 ppm. What is its concentration in mol L7
(Ca=401u.0=16u.C=12u)
1L CaCO;3 T80 TPCEEH 1000 ppma. T°) TTPCHES mol Lt OF Josh?
(Ca=401,0=16u.C=12u)



Options :

1073
1. %

1071
2. ®

19!
3. %

1072
4.

Question Number : 142 Question Id : 4509386382 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
At 293 K. methane gas was passed mto 1 L of water. The partial pressure of methane is 1 bar. The

number of moles of methane dissolved in 1 L water 1s

(Kg of methane = 0.4 kbar)

203K 38, 1 L AEBS' D8 DB ar0ine)ed 00T, DTS FE8 Dchedaw 1 bar.
1L S $60 DB IrS © Hows Joeh?

(B Kg=0.4 kbar)

Options :

1.38
1. ®

1.38 x 1072
2. %



1.38 x 1073
W

1.38 x 1071
4, &

Question Number : 143 Question Id : 4509386383 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The E€ of MM”|Cu™|Cu is 0.3 V. At what concentration of Cu”*(in mol L™, the Ecey value

2303 RT

becomes zero? ( = 0.06) (Conc.of M** = 0.1 M)

MMCu¥|Cu GB0E) E€ D0 0.3 V. &) Cu* Tched (mol L ©67) 963 Eeey DS a0
©9:)e00)?
(2.303 RT

=0.06) (M** ched = 0.1 M
I

Options :

1077
1. %

10-"
10—11

10—1ﬂ
4.



Question Number : 144 Question Id : 4509386384 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At 298 K. for a first order reaction (A—P) the following graph is obtained. The rate constant

(ins™) and initial concentration (in mol L) of ‘A’ are respectively

(y-axis = In(a-x). x-axis = time in sec)

298 K o300, 28 (6o |$ar08 2385550 (A—P) (806 (M) ©80D08. Tew YT 0%

(5106 B0 ‘A FOMChE (mol L1 ©6) SENIT D0eh?

(795 0 = In(ax); -85 0 = 00 VEHOS)

}F

/

2,303 | ‘
Slope =—(10~)

=X

Options :

2.303: 1071
1. %

1072; 2.303
2. ®

197 1072
3, %

1072. 1071



Question Number : 145 Question Id : 4509386385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Given below are two statements

Statement-I: Easily liquefiable gases are readily adsorbed

Statement-IT: Adsorption enthalpy for physisorption is less compared to adsorption enthalpy for

Chemisorption

The correct answer is

150¢3 BOCR ar5D3EN Bad STV

351 OO (DaPeN S8 aPoiNedeD OBOm 905 260 TOKEFOD

5 I 8 ebTFIATS @0fe JoFd), Grad efNe0s

©B526 0T 40P 8500

00 2

Options:

Both Statement-I and statement-II are correct

o §D 51 DB O a3 §E-II BOCH® O
1.¢

Both Statement-I and statement-IT are not correct

2° § £-1 DB O a3 § -1 BOCT® DB QD) oo

2. ®
Statement-I 1s correct but statement-II 1s not corract
3§D S5-I ABRDRAE 5° P FWS-IT DOQDAE 5°¢H
3. %



Statement-I 1s not correct but statement-II 1s correct

o $D S5-I ABADAE 5°CN 57 el FWS-IT DEDIE

Question Number : 146 Question Id : 4509386386 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The validity of Freundlich isotherm can be verified by plotting

EFONORR ITTATD S5 D3 055 R Berdo & 5o Ao
Options :

x : 5
lﬂg; on y-axis and log p on x-axis

y-95 0 log% DA x- @5 0D logp
1.¢

X : s
E o1l ¥-axis and p o011 X-axis

y-2985 0 % DO x- 50 p

2. ®
X ; .
lo g on X-axis and p on y-axis
x-e8 0 lngi DB y- @50 p
3. %

X . .
— on x-axis and log p on y-axis
m

x-25 03 = 8O y- @8 0 logp

X
m



Question Number : 147 Question Id : 4509386387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following sets is not correctly matched?

1BOA DO DB BT IO DE?
Options :

Cuprite. haematite — oxide ores

S051 06, DT — e33)% DATED

1. %

Calamine. siderite — carbonate ores

SPOR, WGDE) — STV DIZeN
2. %

Magnetite. malachite — silicate ores

ST, @B — DO TE wAEN
3.¢

Sphalerite. fool’s gold — sulphide ores

DIOBE, S ) FO - IBH& DD
4. ®

Question Number : 148 Question Id : 4509386388 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When chlorine reacts with hot and conc. NaOH. the products formed are

36 OO Meh NaOH & S8 1585 SoBS)h B¢ (Soirargen
Options :

NaCl. NaClO3. H20
1.¢

NaCl. NaOCL H»2O

NaCl. H>O only
NaCl, H20 57 €533

NaOCL H;O

Question Number : 149 Question Id : 4509386389 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the basic oxide from the following

1508 a°¢3 0& 578 €33 )&% D H8othadw

Options :
Cr203
1. %
Cr0Os



Question Number : 150 Question Id : 4509386390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following does not show optical 1somerism?

BOB ¢3S DA 59960 AP B TIPICD?
Options :

CiS it [CT {:EZ (6204:}2]3_

0 — [Cr Cl5(Cy 94)2]3_
1. %

[Pt Cl,(en),]**
2. %

[Co (NHE‘»:}3{:N02:}3]
3.v

[CG(:E'”-ZH]H
4. %

Question Number : 151 Question Id : 4509386391 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

A polymer X is biodegradable and is obtained from the monomers Y. Z. What are Y and Z?

2,8 FO0D X B8 rEyeheey 08 DO Y, Z IrSand © ok ©DNod. Y
D05 Z 00 9?

Options :

H,) &N " HN

CH,

)\ /\/\/ COOH
H,N COOH : H,N

2. %

AI/\i:'oc)rH /\l/\CODH

OH OH
3. % '
OH
/\/COOH
: /\[/\ s
OH
4.«

Question Number : 152 Question Id : 4509386392 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following is an essential amino acid?

808 73S DO 2.5 355555 DS’ e3:00?

Options :

COOH
HoN—f—H
CH,

COOH
HaN——H
CH(CH3)
3.v

Question Number : 153 Question Id : 4509386393 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following hormone 1s responsible for preparing uterus for implantation of fertilised
egg’
W, W, ez o A §
800 o FEN HOOLSDS omd) A8)0S GoddoS KBNS

g@gdﬁ P\(_&)O{Sq



Options :

Estradiol

DSBS

Pl'DgEStEI‘GIlE

I BROS

2. &

Testosterone

BDFVOS

Thyroxin

BT°8 )

Question Number : 154 Question Id : 4509386394 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct set from the following

§0& a°¢3 H0& HODS daedd Hbowdod
Options :

Penicillin — narrow spectrum - bactereostatic

2AVDS — 96> §05eb % DY — 78 289D ATOOTE

2. ¥



Chloramphenicol — broad spectrum - bactereostatic

ST DTS — @HFBAITHE I — A8 22290 AFHOTE

Ampicillin - — narrow spectruun - bactericidal

DOVVOS — €96 8057528 DY — 33°E 2289 oD

3. %

Ofloxacin — broad spectrum - bactereostatic

2,85 )00 — @O F 8058 DY — 78 122900 AOHOTH
4. %

Question Number : 155 Question Id : 4509386395 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Chlorobenzene (X) when reacted with reagent ‘A’ gets converted to phenol (Y). The major product

obtained from mitration of X gets converted to p-nitrophenol (Z) by reaction with reagent B. What

are A and B respectively?

SEB0RS (X) & 5650 A & 1585 203 98 DTS (V) T 7812800, X
08 DDA VEES DE)ES (T &6, SFEE0B S 155305:)ch 98
RIS TS (Z) T S8 ) B0E. AHBAN B € T

Options :

A= (i) NaOH. 623 K. 300 atm (i) H: B = (i) NaOH. 443K (ii) H'
1.¢

A= (i) NaOH. 443 K (ii) H: B=H0. A



A=(i)NaOH. 323 K (ii) H; B=(i) NaOH. 443 K (ii)) H"

A=(i1) NaOH. 623 K. 300 atm (i1) H. B=HO0. A

Question Number : 156 Question Id : 4509386396 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following reactions with the product obtained from them

List-I List-II

A | Sandmeyer reaction I |R-I

B | Finkelstein reaction II |R-F

C | Swarts reaction III | Ar-Br
IV |R-Br
1808 B850 306 02550833 &6 )08 BSHTOHOG
OQ-I OQ-II

A | r0b DHoHDBEs | T |RI
B | D8O PRBGs | I |RE
C |58y dds I | Ar-Br

IV|R-Br

Options :

A-III. B-I. C-IV



A-IV, B-II, C-1

®

A-III. B-IV, C-II
3. %

A-III, B-I, C-II
4.

Question Number : 157 Question Id : 4509386397 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are X and Y respectively in the following reaction sequence?

80D 078 1500 X DB Y €0 SO D2

CHO CN

L

» Oxime
esggﬁ.)

Options :

NHoNH2.  CgHsSO2C1/ Pyridine
NH-NH>, CsHsS02C1/ D8AHS

NH:NH;. (CH3CO)0



NH20H, CgHsS02C1/ Pyridine
NH20H. CsHs5SO:C1/ DBES

NH,0H. (CH3CO)0
4.

Question Number : 158 Question Id : 4509386398 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arrange the followmng in decreasing order of their acidity

1808 7¢3Q) ar¢3 e30eh 50 6T) 56008 @806

COOH COOH COOH
A B. C
CN F NO,
Options :
C=>=B=A
1. %
CA>B

2. ¢



Question Number : 159 Question Id : 4509386399 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are X and Y i the following set of reactions?

806 3850 ADBS' X HBM Y 0 N?

OHC COOCHs
OH
b '] X
A — -

Options :

X =(1) DIBAL-H (11) H20 Y =(i) DIBAL-H (u) H2O
1. #

X = Hy/Catalyst Y = Hy/ Catalyst

X = Hy/Ss(@ 33850 Y = Hy &(@)8%0
2. %

X = Hy/ Catalyst Y =(1) DIBAL-H (u) H2O

X = Hycs®3)5%0  Y=(i) DIBAL-H (ii) HO



X = (i) DIBAL - H (ii) HhO Y = Ho/ Catalyst

X =(i) DIBAL - H (ii) H20 Y = Ho/s( 83 )580
4, %

Question Number : 160 Question Id : 4509386400 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An alkyl halide C3H7Cl, on reaction with a reagent X gave the major product Y (C4H7N). Y on

hydrolysis released gas, which furns red Litmus to blue. What are X and Y?

28 8BO FBH CHCL 380 X & V65S T (CHEN) o (T G )5y 0
3000, Y 2023260S DRSBTS oine) NS OLR & O Johir Sr808. X
SO0 Y ) A7

Options :

KCN/C2H50H.

/‘\/ N
KCN/C2HsOH.

2.

/\/ N
AgCN/C2Hs0H.,

3. %

/\/ NC
AgCN/C2Hs0H.






